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1.

1. 61.11%
2. 8.69%
3. 9%
4. 23%
[a] 3 [b] 1
[c] 2 [d] 4

Sol. [C]
6.89% 

11% 

2.

[a]
[b]
[c]

[d]

Sol. [B]

3.

1.
2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [A]

4.

1. 2.
3. 4.
5.

[a] 1, 2, 3 4 [b] 2, 3, 4 5
[c] 1, 2, 3 5 [d]

1. The mismatched pair among the following is-
Physical Region Area
1. Desert region 61.11%
2. Hadoti region 8.69%:
3. Aravalli region 9%
4. Plain region 23%
[a] 3 only [b] 1 only
[c] 2 only [d] 4 only

Sol. [C]
Hadauti region is spread over 6.89% area,
where 11% population of the state resides. The
climate here is of very humid nature and
black/basalt soil is found here.

2. Select the incorrect option by examining the
following statements related to sand dunes:
[a] Sand dunes are not found in Hammada.
[b] All types of sand dunes are found in

Jaisalmer.
[c] This topography is formed by the

deposition of soil by erosional activities by
wind.

[d] Being of highly displaced nature barkhan
sand dunes promotes the maximum
desertification.

Sol. [B]
All types of sand dunes are found in Jodhpur,
while most sand dunes are found in Jaisalmer.

3. Consider the following statements related to
Parabolic sand dunes-
1. These sand dunes are found in all the

districts.
2. Unlike Barkhan, these dunes are clip-

shaped.
Which of the above is not correct statement-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]
Parabolic sand dunes are found in all the desert
districts, in which Jaisalmer, Barmer, Jodhpur,
Bikaner are notable.

4. Select the expansion areas of sand dunes free
desert from the following-
1. Pokaran 2. Ramgarh
3. Thob 4. Suratgarh
5. Phalodi
Code:
[a] 1, 2, 3 and 4 only  [b] 2, 3, 4 and 5 only
[c] 1, 2, 3 and 5 only [d] All of the above
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Sol. [C]
The detail of sand dune free desert (Hammada)
is as follows-
1. Jaisalmer - Pokaran, Ramgarh, Lodrava
2. Barmer - Balotra, Thob
3. Jodhpur - Phalodi
Star-shaped sand stupas are found in Suratgarh
(Sriganganagar).

5. In which area Khadin agriculture is maximum
done in Rajasthan?
[a] Barmer [b] Jaisalmer
[c] Jodhpur [d] Sriganganagar

Sol. [B]
The temporary water lakes found in the deserts
of Rajasthan are called ‘Khadin’ and it is most
commonly found in northern Jaisalmer.
‘Khadin agriculture’ is done by the Paliwal
Brahmins of Jaisalmer.

6. The second geological water relics of
Saraswati river have been found in Rajasthan
from-
1. Pokaran 2. Baytu
3. Sanchore 4. Suratgarh
Code:-
[a] 3 and 4 only [b] 2 and 3 only
[c] 1 and 2 only [d] 1, 2 and 3 only

Sol. [B]
Another geological relic of Saraswati river has
been obtained from Barmer (Baitu) and Jalore
(Sanchore) districts of Rajasthan.

7. The mismatched pair among the following
is-

Aravalli highest peak
1. Northern Aravalli - Raghunathgarh
2. Central Aravalli - Taragarh
3. Southern Aravalli - Guru Shikhar
[a] 3 only [b] 2 and 3 only
[c] 2 only [d] none of these

Sol. [C]
Todgarh (934 km-) is the highest peak of
Central Aravalli. Taragarh (873 km-) is also
its other peak.

8. Select the option showing the following
mountain peaks in ascending order-
[a] Kho – Kamal Nath – Zarga – Ser
[b] Ser - Kho - Kamal Nath - Zarga
[c] Kamal Nath - Ser - Kho - Zarga
[d] Zarga - Kho - Ser - Kamal Nath

Sol. [C]

1.
2.
3.

5.

[a] [b]
[c] [d]

Sol. [B]

6.

1. 2.
3. 4.

[a] 3 4 [b] 2 3
[c] 1 2 [d] 1, 2 3

Sol. [B]

7.

1. -
2. -
3. -
[a] 3 [b] 2 3
[c] 2 [d]

Sol. [C]
934 

873 
8.

[a]
[b]
[c]
[d]
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Sol. [A]

1. 920 
2. 1001 
3. 1431 
4. 1597 

9.

A. 1.
B. 2.
C. 3.
D. 4.

5.
A B C D A B C D

[a] 1 4 3 2 [b] 2 3 1 4
[c] 3 5 4 1 [d] 5 1 3 2

Sol. [B]

10.

[a]
[b]
[c]
[d]

Sol. [D]

11.

[a] [b]
[c] [d]

Sol. [C]
(GBF) :- 

12.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 2 4 3 [b] 2 4 3 1
[c] 3 1 2 4 [d] 4 1 2 3

Sol. [C]

Sol. [A]
Mountain peak Location height (m)
1. Kho Jaipur 920 m.
2. Kamal Nath Udaipur 1001 m.
3. Jarga Udaipur 1431 m.
4. Ser Sirohi 1597 m.

9. Match the following pairs-
Hill Station

A. Trikuta Mountain 1. Udaipur
B. Israna Bhakar 2. Karauli
C. Machhla Magra 3. Jalore
D. Bijral 4. Rajsamand

5. Jaisalmer
A B C D A B C D

[a] 1 4 3 2 [b] 2 3 1 4
[c] 3 5 4 1 [d]5 1 3 2

Sol. [B]
Trikut hill (Sonar Durg) is located in Jaisalmer.

10.  The mismatched pair among the following
is-

Hills with special Related District
 shape
[a] Spherical  Barmer
[b] Crescent Bundi
[c] Spiral Ajmer
[d] Saucer-shaped Rajsamand

Sol. [D]
The saucer-shaped / Girwa hills are found in
Udaipur district.

11. In which of the following district the Great
boundary fault is not located?
[a] Bhilwara [b] Bundi
[c] Banswara [d] Chittorgarh

Sol. [C]
Great boundary Fault (GBF) - A fault located

between Aravali to Hadoti, which extends
to Bhilwara, Bundi and Chittorgarh.

12. Combine the following pairs:
Crop Soil

A. Barley 1. Sandy
B. Millet 2. Red Loam
C. Maize 3. Alluvial
D. Cotton 4. Black
Code:

A B C D A B C D
[a] 1 2 4 3 [b] 2 4 3 1
[c] 3 1 2 4 [d]4 1 2 3

Sol. [C]
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13.

[a]  1975

[b] 1970

[c] 1974

[d] 1964

Sol. [C]

1955 

1. - 1957

2. 1974

14. 17 2021 

[a] [b]

[c] [d]
Sol. [*]

17 2021

> > 

> > 

 > > 

> 

15. 1.

2. 17 2021 
25,388 

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [D]

• (7.41%)

* (4.87%)

* (2.56%)

• (25,388 )

* (16,654 )

* (8,733 )

13. The mismatched pair among the following is-
Statutory Board Establishment Year
[a] State Land Development - 1975

Corporation -
[b] Rajasthan Housing  - 1970

Board Corporation
[c] Rajasthan Financial  - 1974

Corporation
[d] Rajasthan State Road  - 1964

Transport Corporation
Sol. [C]

The Rajasthan Financial Corporation was
established in 1955. Apart from the above
mentioned statutory boards, there are two
more boards-
1. Agricultural Warehousing Corporation -

1957
2. State Agricultural Marketing Board - 1974

14. According to the 17th Forest Census, 2021, in
which district of Rajasthan the maximum
percentage increase has been recorded-
[a] Sirohi [b] Udaipur
[c] Karauli [d]Pratapgarh

Sol. [*]
17th Forest Census in Rajasthan, 2021
Maximum increase in forest area – Ajmer >
Pali > Bikaner
Maximum reduction in forest area – Jalore >
Karauli > Sirohi
Highest forest cover (in percentage)- Udaipur
> Pratapgarh > Sirohi
Maximum forest cover (in area)- Udaipur >
Alwar

15. 1. In terms of percentage, the area under
forest is more in comparison to the area
covered by trees in Rajasthan.

2. According to the 17th Forest Census, 2021,
forest  in Rajasthan are spread over an area
of 25,388 sq.km.

Which of the above is not a correct statement-
[a] only 1 [b] only 2
[c] both 1 and 2 [d]none of these

Sol. [D]
Total forest in rajasthan
• In terms of percentage (7.41%)

* Forest covered (4.87%)
* Tree covered area (2.56%)

• In terms of area (25A388 sq. km.)
* Forest Covered Area (16,654 sq. km.)
* Tree Covered Area (8,733 sq. km.)



Page 6

16.

[a]

[b]

[c]

[d]

Sol. (B)

( )

1. 58% (30 - 60)

2. 28% (50 - 80)

3. 7% (75 - 110)

4. 6% (0 - 30)

5. 1% (150)

17.

1.

2.

3.

4.

[a] 3 [b] 4

[c] 1 [d] 2

Sol. [A]

1983 
( ) 

18.

A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D

[a] 1 2 3 4 [b] 2 3 1 4

[c] 3 4 1 2 [d] 4 3 2 1
Sol. [B]

16. Among the following, the option to arrange
the geographical classification of forests
according to their percentage in descending
order is-
[a] Tropical thorn forests - Tropical Dhok

forests - Tropical dry monsoon forests -
Tropical teak forests

[b] Tropical Dhok Forest - Tropical Dry
Monsoon Forest - Tropical Teak Forest -
Subtropical    Evergreen Forest

[c] Tropical Dry Monsoon Forest - Tropical
Teak Forest - Tropical Dhok Forest -
Tropical Thorn Forest

[d] Sub-tropical evergreen forests - Tropical
thorn forests - Tropical dry teak forests -
Tropical      forests

Sol. (B)
Forest PercentRainfall (in cm)

1. Tropical Forest 58% (30 - 60)
2. Hot dry monsoon forest28% (50 - 80)
3. Tropical teak forest 7% (75 - 110)
4. Tropical Thorn Forest 6% (0 - 30)
5. Subtropical Evergreen Forest 1%

(150)
17. The mismatched pair among the following

is-
Dominant tree Highest

1. Mulberry - Udaipur
2. Mahua  - Dungarpur
3. Rohida - Chittorgarh
4. Teak - Banswara
[a] 3 only [b] 4 only
[c] 1 only [d]2 only

Sol. [A]
Rohida is also called ‘Maru Sagwan’. It got the
status of state flower in 1983. Its maximum
distribution is found in western Rajasthan
(Jodhpur  division).

18. Match the following pairs-
Major Grass Related District

A. Motha 1. Bikaner
B. Mochia 2. Bharatpur
C. Bur 3. Churu
D. Bamboo 4. Banswara
Code:

A B C D A B C D
[a] 1 2 3 4 [b] 2 3 1 4
[c] 3 4 1 2 [d]4 3 2 1

Sol. [B]
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19.

[a]

[b]

[c]

[d]
Sol. [A]

20.

1.

2.

3.

[a] 3 [b] 2

[c] 1 [d]

Sol. [B]

21.

1.

2.

3.

[a] [b]

[c] [d]
Sol. [C]

22.

[a]

[b] ph 8 

[c]

[d]
Sol. [A]

19. The mismatched pair among the following is-
Soil Location

[a] Riverina - Bikaner
[b] Red Loam - Pratapgarh
[c] New Brown Soil - Bhilwara
[d] Calsi Brown Desert Soil - Jaisalmer

Sol. [A]
Riverina soil is found in Sriganganagar district.

20. Consider the following statements-
1. Entisol soil is found in the arid-semi-arid

climate region to the west of Aravalli.
2. Aridosol is the most found scientific soil

in Rajasthan.
3. Vertisol is black and chernozem soil.
Choose the incorrect statement(s) from the
above-
[a] 3 only [b] 2 only
[c] 1 only [d]none of these

Sol. [B]
Entisol is the most commonly found scientific
soil in Rajasthan and Aridsol comes second in
this   order.

21. Following statements are related to which
soil?
1. This soil is also known by the names Reh

or Kallar.
2. The process of capillarity takes place in it.
3. It is suitable for the production of

pomegranate and sugarcane.
[a] alluvial soil [b] sandy soil
[c] saline soil [d]red-yellow soil

Sol. [C]
This soil is least fertile. It extends up to Barmer,
Jalore, Sriganganagar, Hanumangarh and
Bikaner.

22. Choose the option that correctly represents
the term ‘Soil Degradation’ from the
following-
[a] Deterioration of physical, chemical and

biological potential of soil
[b] Ph value in soil greater than 8
[c] Soil erosion
[d] Deposition of salts on the surface of the

soil
Sol. [A]

Organic fertilizers should be used for
protection from soil erosion.
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23.
1.
2.

3.

[a] 1 2 [b] 3
[c] 2 [d]

Sol. [B]

24. Aw 
1. 2.
3. 4.
[a] 2 3 [b] 1, 3, 4
[c] 1 2 [d] 3 4

Sol. [A]
Aw 

25.

1.
2.

3.

[a] 1 [b] 2 3
[c] 1 2 [d] 3

Sol. [A]

26.

[a]
[b]
[c]
[d]

Sol. [C]

23. Consider the following statements-
1. Tropical climate is found in Rajasthan.
2. Some parts of Banswara and Dungarpur

districts only lie in the sub-tropical region.
3. Thornthwaite’s classification is more valid

than others in personal climate
classification.

The correct statement from the above is-
[a] 1 and 2 only [b]  3 only
[c] 2 only [d]all of the above

Sol. [B]
Sub-tropical climate is found in Rajasthan.
Some parts of Banswara and Dungarpur come
under tropical zone.

24. Where is the Aw type of climate found?
1. Bundi 2. Banswara
3. Pratapgarh 4. Udaipur
[a] 2 and 3 only [b] 1, 3, and 4 only
[c] 1 and 2 only [d]3 and 4 only

Sol. [A]
Savanna (high and dense grass) type of climate
is found in Aw. It extends to Hadoti (except
Bundi), Vagad and Mount Abu.

25. The correctly matched pair among the
following is-
meaning in summer upcoming events
1. Loo - Hot and dry winds
2. Storm - Dusty and cyclonic winds
3. Bhabhulya - Dusty and humid winds
[a] 1 only [b] 2 and 3 only
[c] 1 and 2 only [d]3 only

Sol. [A]
Dusty and humid winds in summer are called
‘storms’, due to which the winds rise up
convectively.
Bhabhulya are dusty and cyclonic winds, which
are generated due to high temperature and
low air pressure at a particular place.

26. Which of the following group of districts of
Rajasthan is correctly arranged in descending
order according to the amount of average
rainfall from the South West Monsoon?
[a] Jaipur, Hanumangarh, Bundi, Banswara
[b] Hanumangarh, Jaipur, Bundi, Banswara
[c] Banswara, Bundi, Jaipur, Hanumangarh
[d] Bundi, Jaipur, Banswara, Hanumangarh
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27.
[a] 25 [b] 1 
[c] 30 [d] 30 

Sol. [D]

25 30 


28.
[a]
[b]
[c]
[d]

Sol. [A]

1. 2. 3. 
29.

1.
2.
3.
[a] 1 2 [b] 1 3
[c] 2 [d]

Sol. [C]

30. (A) (R)

(A) :

(R) :
[a] A R R, A

[b] A R R, A

[c] A R
[d] A R

Sol. [A]

Sol. [C],
District Climate
Banswara - Very humid climate
Bundi - Humid climate
Jaipur  - Sub-humid climate
Hanumangarh - Semi-arid climate

27. The date of withdrawal of monsoon in
Rajasthan is-
[a] 25th June [b]  1st June
[c] 30th October [d]30th September

Sol. [D]
Monsoon dates in Rajasthan-
Arrival date Departure date
June 25 September 30

(Banswara, Dungarpur)

28. The direction of cold wave is-
[a] North-East to South-West
[b] South-West to North-East
[c] North-West to South-East
[d] South-East to North-West

Sol. [A]
Cold wave - Cold winds coming from the
Himalayas in winter, whose direction is from
north-east to south-west.
Time  - January
Affected Areas -    1. Churu 2. Sikar 3. Bikaner

29. The term ‘Golden Drops’ is associated with?
1. The south-west monsoon
2. Mediterranean disturbance
3. North-East monsoon
[a] 1 and 2 only [b] 1 and 3 only
[c] 2 only [d]all of the above

Sol. [C]
Golden Drops – The wheat crop is the most
benefited by the rainfall caused by the
Mediterranean disturbance.

30. Considering the following Assertion(A) and
Reason (R), choose the appropriate option-
Assertion (A) : Most of the rivers in Rajasthan
are of inflowing trend.
Reason (R) :  The extent of desert in Rajasthan
is more.
[a] A and R both are correct and R is the

correct explanation of A.
[b] A and R both are correct but R is not the

correct explanation of A.
[c] A is correct, but R is incorrect.
[d] A is wrong, while R is correct.

Sol. [A]
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31.

[a]
[b]
[c]
[d]

Sol. [B]
( )

( )

32.

1. 2.

3. 4.

[a] 1 2 [b] 3 4
[c] 1 3 [d] 2 3

Sol. [D]

( )

33.

[a] [b]
[c] [d]

Sol. [C]

34.

[a] [b]
[c] [d]

Sol. [B]

 

 

[kkjh 
lkaHkj 

(vtesj) 

(t;iqj) 

(Lkhdj) 

(ukxkSj) 

[k.Msy 

esaFkk 

#iux<+ 

35.

[a] 15 [b] 18 
[c] 27 [d] 20 

31. Which of the following rivers drain into the
Gulf of Khambhat:
[a] Luni and Mahi
[b] Mahi and Sabarmati
[c] West Banas and Sabarmati
[d] Luni and Sabarmati

Sol. [B]
Mahi and Sabarmati have their origin in
different places from Mehand Lake (Madhya
Pradesh) and Padrada Hill (Udaipur)
respectively, while both of them discharge into
the Gulf of Khambhat.

32. Which of the following is a city situated on
the bank of Western Banas?
1. Ahmedabad 2. Deesa Nagar
3. Abu 4. Gandhi Nagar
[a] 1 and 2 only [b] 3 and 4 only
[c] 1 and 3 only [d]2 and 3 only

Sol. [D]
The western Banas river originates from Naya
Sanwara (Sirohi) and falls into the Rann of
Kutch. It flows through the states of Rajasthan
and Gujarat. Ahmedabad and Gandhinagar:
Sabarmati river.

33. On which river is ‘Bujh Lake’ situated?
[a] Kantli river [b] Banganga river
[c] Kakni river [d]Varah river

Sol. [C]
Bujh Lake is located in Jaisalmer. It is a fresh
water lake.

34. The river which brings maximum salinity in
Sambhar lake is:
[a] Rupangarh [b] Mentha
[c] Khari [d]Khandel

Sol. [B]
 

 

 

 

 

 

Khari 
Sambhar 

(Ajmer) 

(Jaipur) 

(Sikar) 

(Nagaur) 

Khandel 
Mentha 

Roopangarh 

35. What is the height of Chulia Falls?
[a] 15 meter [b] 18 meter
[c] 27 meter [d]20 meter
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Sol. [B]

18 
( )

36.

[a]
[b]
[c]
[d]

Sol. [A]
( )

37.

1.

2. ( )

3.

[a] 3 [b] 2
[c] 1 [d]

Sol. [*]
•

• ' '
( )

• 2008 

38.

A. 1.
B. 2.
C. J & K 3.
D. 4.

5.
A B C D A B C D

[a] 4 3 2 1 [b] 5 1 3 2
[c] 3 1 5 2 [d] 2 3 4 1

Sol. [C]

Sol. [B]
The highest waterfall of Rajasthan is ‘Chulia’,
whose height is 18 meters. Its location is in
Bhainsrodgarh (Chittorgarh) on the Chambal
river.

36. Which one of the following is not a correctly
matched pair?

River Basin
[a] Banganga - Khamnore Hills
[b] Sabi - Sewar Hills
[c] Som - Bichameda
[d] Kantli - Khandela hills

Sol. [A]
Banganga originates from Bairath hills (Jaipur).
Jamvaramgarh and Ajan dams are situated on
this river. Among its tributaries, Gumti Nala,
Suri river, Sawan river, Palasan are notable.

37. Consider the following statements regarding
the Bisalpur Dam Project-
1. This biggest dam project of Rajasthan is

situated on Banas river.
2. Its excess water will be distributed to Meja

Dam (Bhilwara).
3. Bisalpur is the first conservation reserve

of Rajasthan.
The incorrect statement from the above is-
[a] 3 only [b] 2 only
[c] 1 only [d]none of these

Sol. [*]
• Bisalpur project is the biggest drinking

water project of Rajasthan while the biggest
dam project is Rana Pratap Sagar.

• Excess water of Bisalpur project will be
distributed in Isarda Dam (Sawai
Madhopur).

• Bisalpur was declared the first
Conservation Reserve of Rajasthan in the
year 2008.

38. Match the following pairs-
Industry   location

A. Capstan Meter   1. Bharatpur
B. Simco Wagon Factory    2. Dungarpur
C. J & K Electronics         3. Pali
D. Fluorite Plant    4. Tonk

        5. Kota
A B C D A B C D

[a] 4 3 2 1 [b] 5 1 3 2
[c] 3 1 5 2 [d]2 3 4 1

Sol. [C]
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m|ksx mRikn LFkku 
dsIlVu ehVj ikuh ds ehVj t;iqj] ikyh 
fledks oSxu QSDVªh jsyos fMCcksa dk fuekZ.k Hkjriqj 
J&K bysDVªkWfuDl Vh-oh- dksVk  
¶yksjkbV la;a= yksgs ds lkFk feykdj la;a= fuekZ.k Mwaxjiqj 

39.

[a] [b]
[c] [d]

Sol. [C]

40.

1.
2.
3.
[a] 1 2 [b] 1
[c] 3 [d]

Sol. [B]
- 

- 
41.

A. 1.

B. 2.

C. 3.

D. 4.

A B C D A B C D

[a] 4 3 2 1 [b] 2 1 3 4
[c] 1 2 4 3 [d] 2 1 4 3

Sol. [D]

•

•

42.

[a] [b]
[c] [d]

Sol. [B]

Industry Product Place 
Capstan meter Water meter Jaipur, Pali 
Simco Wagon 
Factory 

Manufacture of  
railway coaches Bharatpur 

J&K Electronics T.V. Kota 
Fluorite plant Iron ore plant construction Dungarpur 

39. One of the following is not an example of a
crater lake-
[a] Ramgarh Lake [b] Pushkar Lake
[c] Rajsamand lake [d]Nakki lake

Sol. [C]
Rajsamand lake was built for famine relief
works. Ghevar Mata Temple and Dwarkadhish
Temple are situated on its banks and the
remains of solar clock have also been found
from here.

40. Which of following pairs are collectly matched
related to Lake Pachpadra :
1. Restan - Salt obtained from the lake
2. Kharwal- A shrub useful in salt

production
3. Morli - Caste that gets salt
[a] only 1 and 2 [b] 1 only
[c] 3 only [d]All of the above

Sol. [B]
Kharwal - Caste getting salt from Pachpadra
lake.
Morli - Shrub useful in salt production from
Pachpadra.

41. Match the following -
Pond Location

A. Jangali pond 1. Nagaur
B. Shukra pond 2. Ranthambore
C. Sareri pond 3. Jhunjhunu
D. Pannalal Shah pond 4. Bhilwara
Code:

A B C D A B C D
[a] 4 3 2 1 [b] 2 1 3 4
[c] 1 2 4 3 [d]2 1 4 3

Sol. [D]
Apart from the above, there are other ponds

as well-
• Kala pond and Sukh pond - Ranthambore
• Khari pond - Bhilwara

42. In which district Madar Dam is located?
[a] Rajsamand [b] Udaipur
[c] Bhilwara [d] Chittorgarh

Sol. [B]
Madar Dam is one of the major dams of
Udaipur, situated on the Bedach River.
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43.

[a] [b]
[c] [d]

Sol. [D]

28% 

44.

[a]

[b]

[c]

[d]
Sol. [D]

(i) (ii)

(i) (ii)

45.

[a] [b]

[c] [d]
Sol. [B]

(i) 69.5%

(ii) 69.5%

(iii) 70%

46.

[a] 86.9%, 69.5% [b] 85.5%, 70.7%

[c] 79.2%, 52.1% [d] 87.5%, 69.5%
Sol. [C]

47.
1000 

1. 2.

3.

43. Tropical dry monsoon forests are found in
which part of Rajasthan-
[a] Desert Area [b] Wagad Area
[c] Hadoti Zone [d] Mewar Zone

Sol. [D]

The tropical dry monsoon forests in Rajasthan
account for 28% of the total geographical
forests. Their distribution is up to the Mewar
region and the eastern plains (Alwar,
Bharatpur, Karauli, Sawai Madhopur). Sal,
teak, rosewood, mango and sandalwood are
noteworthy in these forests.

44. In which districts is the minimum population
of Scheduled Tribes found?

[a] Udaipur, Rajsamand

[b] Sriganganagar, Hanumangarh

[c] Kota, Baran

[d] Bikaner, Nagaur

Sol. [D]

Minimum Scheduled Tribe Population:

(i) Bikaner, (ii) Nagaur

Scheduled Tribe Minimum Percentage:

(i) Nagaur, (ii) Bikaner

45. In which area is there extreme backwardness
in terms of male literacy rate?

[a] North Rajasthan [b] Southern Rajasthan

[c] East Rajasthan [d] West Rajasthan

Sol. [B]

Minimum Male Literacy Rate:

(i) Pratapgarh - 69.5%

(ii) Banswara - 69.5%

(iii) Sirohi - 70%

46. Which is the correct combination on the basis
of male literacy rate and female literacy rate
respectively in Rajasthan?

[a] 86.9%, 69.5% [b] 85.5%, 70.7%

[c] 79.2%, 52.1% [d] 87.5%, 69.5%

Sol. [C]

47. In which district/districts of Rajasthan the
average sex ratio is more than 1000?

1. Banswara 2. Pali

3. Rajsamand

[a] 1 and 2 only [b] 2 only
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[a] 1 2 [b] 2

[c] 3 [d]
Sol. [D]

1000 

48.

[a]

[b]

[c]

[d]
Sol. [D]

(i) 32.5%, (ii) 31.8%

(iii) 27.7%, (iv) 26.58%

49.
100 

1. 2.

3. 4.

[a] 1 3 [b] 1, 2 3

[c] 2, 3 4 [d]
Sol. [B]

100 

(i) (17), (ii) (78)

(iii) (92)

50.

1.

2.

3.

[a] 1 2 [b] 2 3

[c] 1 3 [d] 1, 2 3
Sol. [A]

51.

1. 2.

3.

[a] 1 2 [b] 3

[c] 1 3 [d] 1, 2 3
Sol. [A]

[c] 3 only [d] none of the above

Sol. [D]

The sex ratio of all the districts of Rajasthan is
less than 1000.

48. In which of the following pairs of the
districts, the population growth rate has been
the highest?

[a] Sriganganagar, Jhunjhunu
[b] Pali, Bundi
[c] Alwar, Dausa
[d] Jodhpur, Banswara

Sol. [D]

Highest population growth rate:

(i) Barmer - 32.5%, (ii) Jaisalmer - 31.8%
(iii) Jodhpur - 27.7%, (iv) Banswara - 26.58%

49. Which of the following districts has a
population density of less than 100?

1. Jaisalmer 2. Barmer
3. Bikaner 4. Jodhpur
[a] 1 and 3 only [b] 1, 2 and 3 only
[c] 2, 3 and 4 only [d] All of the above

Sol. [B]

Districts with population density less than 100:

(i) Jaisalmer (17), (ii) Bikaner (78)
(iii) Barmer (92)

50. Maize crop is the main crop of which of the
following agro-climatic zones?

1. Sub-humid Southern plains
2. Humid Southern Plains
3. Humid South-Eastern plains
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] 1, 2 and 3

Sol. [A]

Maize is one of the major crops of sub-humid
southern plains and humid southern plains.

51. Sriganganagar has the first place in the
production of which of the following crops?

1. Sugarcane 2. Barley
3. Cotton
[a] 1 and 2 only [b] 3 only
[c] 1 and 3 only [d] 1, 2 and 3

Sol. [A]

Sriganganagar : Barley, sugarcane, first place
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52. 1. 2014-15 5
12 

2.

[a] 1 [b] 2

[c] 1 2 [d] 1, 2
Sol. [C]

5 
12 

1.

2.

3.

53.

[a] 1975 

[b] 1980 

[c] 1965 

[d] 2000 
Sol. [A]

1975 

54.

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 2 4 3 1 [b] 2 3 1 4
[c] 3 4 2 1 [d] 3 1 4 2

Sol. [D]

55.

[a] [b]

in production.
Hanumangarh : First place in wheat, cotton
production.
Alwar : First place in millet production.
Bhilwara : First place in maize production.

52. 1. According to the Swadesh Darshan
Scheme, 2014-15, 12 Krishna Circuits are
being developed from tourism point of
view in 5 states of the country.

2. It includes religious places of three districts
from the state of Rajasthan.

The correct statement from the above is/are-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
Under the Swadesh Darshan scheme, 12
Krishna circuits will be developed in 5 states
of the country - Uttar Pradesh, Haryana,
Rajasthan, Gujarat, Odisha.
The temples included from Rajasthan are as
follows:
1. Rajsamand - Shrinathji temple
2. Jaipur - Govind Devji, Galta ji, Kanak

Vrindavan
3. Sikar - Khatushyamji.

53. In which year and with the help of which
organization Rajasthan State Dairy
Development Corporation was established -
[a] In 1975, in association with the World Bank
[b] In 1980, in association with the World

Trade Organization.
[c] In 1965, in Association with the Asian

Development Bank.
[d] In 2000, in Association with the IMF

Sol. [A]Vaivas. Kh.,
The Rajasthan State Dairy Development
Corporation was established in 1975 at Jaipur
with the assistance of the World Bank.

54. Match the following pairs-
Tourist Places Related Tour

Circuits
A. Khivaj Mata Temple 1. Jodhpur
B. Chitar Palace 2. Udaipur
C. Palace of Okha Rani 3. Jaisalmer
D. Hawala Village 4. Mount Abu

A B C D A B C D
[a] 2 4 3 1 [b] 2 3 1 4
[c] 3 4 2 1 [d] 3 1 4 2

Sol. [D]
55. In which district  the Jal Devi Mata Ji

Temple is located?
[a] Bhilwara [b] Udaipur
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[c] [d]
Sol. [C]

10 

56.

1. -

2. -

3. -

[a] 1 3 [b] 1 2
[c] 2 3 [d]

Sol. [B]

57.
[a] 2012 [b] 2014
[c] 2017 [d] 2019

Sol. [C]
2017 

10 

58.

A. 1. 1977-78

B. 2. 1992
C. 3. 1996-2016
D. 4. 2009-2014

5. 2015
A B C D A B C D

[a] 2 3 1 4 [b] 2 1 5 3
[c] 1 4 3 5 [d] 3 4 5 2

Sol. [D]
1977-78 

59.

[c] Rajsamand [d] Chittorgarh
Sol. [C]

A proposal of Rs 10 crore has been approved
by the government for tourism development
in Jaldevi Mataji temple of Rajsamand district
(Sansera).

56. Among the following the mismatched pair
is-
Ecosystem Related feature
1. Aravali Ecosystem - Ecosystem with

highest bird bio-
diversity

2. Eastern Plain  - Ecosystem with
Ecosystem highest biodiversity

3.  Hadoti Ecosystem - Ecosystem with the
most aquatic bio-
diversity

Code:
[a] 1 and 3 only [b] 1 and 2 only
[c] 2 and 3 only [d] none of these

Sol. [B]
The highest bio-diversity is found in the
Aravali ecosystem, while the eastern plain
ecosystem is noteworthy in terms of maximum
bird bio-diversity.

57. When the organic agriculture policy was
implemented in Rajasthan-
[a] Year 2012 [b] Year 2014
[c] Year 2017 [d] Year 2019

Sol. [C]
During the Global Rajasthan Agritech Meet
held in Kota in the year 2017, the state’s first
organic agriculture policy was released and it
was announced to be implemented for 10 years.
Its objective was the integrated development
of organic farming and animal husbandry.

58. Match the following tree plantation programs
with the year they were started:
Tree Plantation Commencement Year
Program
A. State Forestry 1. 1977-78

implementation plan
B. Harit Rajasthan 2. 1992
C. Van Dhan Yojana 3. 1996-2016
D. Aravali Plantation Program 4. 2009-2014

5. 2015
A B C D A B C D

[a] 2 3 1 4 [b] 2 1 5 3
[c] 1 4 3 5 [d]3 4 5 2

Sol. [D]
The Desert Plantation Program was started in
the year 1977-78.

59. Which of the following is the latest
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(27 )
[a]
[b]
[c]
[d]

Sol. [C]

7 
26 
27
23

60. CAZRI 

1. 2.
3. 4.

[a] 1 2 [b] 2, 3 4
[c] 1, 3 4 [d] 1, 2 4

Sol. [C]
CAZRI ICAR 

5 

61.

[a] [b]
[c] [d]

Sol. [B]
•

•

62.

1.
2.
3.
4.

[a] 1, 2 4 [b] 2, 3 4
[c] 3 4 [d] 1, 3 4

Sol. [C]
•

Conservation Reserve (27th) declared in
Rajasthan?
[a] Beed Conservation Reserve
[b] Khichan Village Conservation Reserve
[c]  Banjh-Amli Conservation Reserve
[d] Arwar Village Conservation Reserve

Sol. [C]
Conservation Reserve District
Beed Conservation Reserve (7th) - Jhunjhunu
Khichan Village Conservation Reserve (26th)
- Jodhpur
Banjh-Amli Conservation Reserve (27th) -
Baran
Arwar Village Conservation Reserve (23rd) -
Ajmer

60. Which of the following are included in the
sub-centres of CAZRI ?
1. Jaisalmer 2. Barmer
3. Bhuj-Kutch 4. Leh
Code :
[a] 1 and 2 only [b] 2, 3 and 4 only
[c] 1, 3 and 4 only [d] 1, 2 and 4 only

Sol. [C]
CAZRI Institute was established in Jodhpur
in collaboration with ICAR. Its 5 sub-centres
are as follows: Bikaner, Jaisalmer, Pali, Bhuj-
Kutch, Leh.

61. Non-conventional energy resources,
classified on the basis of production, do not
include which of the following-
[a] Nuclear energy [b] Hydro energy
[c] Tidal energy [d] Solar energy

Sol. [B]
• On the basis of production, energy

resources are divided into conventional
and non-conventional resources. Non-
conventional energy resources include
nuclear energy, solar energy, wind energy,
biogas and tidal energy, while hydro
energy comes under conventional sources.

• Hydro energy also comes under renewable
energy resources divided on the basis of
potential.

62. By which of the following projects, Rajasthan
and Madhya Pradesh got benefited?
1. Tehri Project
2. Tanakpur Project
3. Chambal Power Project
4. Rahughat Project
Code:-
[a] 1, 2 and 4 only [b] 2, 3 and 4 only
[c] 3 and 4 only [d] 1, 3 and 4 only

Sol. [C]
• The contribution of Rajasthan and Madhya

Pradesh is equal in Chambal Hydroelectric
Project and Rahughat Project and both
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•

•

63.
1.

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [D]

64.

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 1 2 3 4 [b] 2 1 4 3
[c] 1 4 2 3 [d] 3 1 4 2

Sol. [C]
65.

1. 2.
3. 4.

[a] 1, 2 3 [b] 1, 3 4
[c] 1 2 [d] 1, 2, 3 4

Sol. [A]

66.

1.
20 2019 

2.

these projects are located on Chambal river.
• Tehri project supplies electricity to Uttar

Pradesh, Uttarakhand, Punjab, Delhi,
Haryana, Jammu and Kashmir, Rajasthan
and Himachal Pradesh.

• Tanakpur hydroelectric project is
operational in Uttarakhand on the river
Sharda (Maha Kali River)

63. Consider the following statements-
1. Suratgarh is Rajasthan’s first super thermal

and coal thermal power plant.
2. Danpur Super Thermal Power Project is

operated in Barmer.
Select the correct statement from the above-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [D]
Suratgarh is the first super thermal power
plant in Rajasthan, while the first coal thermal
power plant is Kota (Kota has the second super
thermal power plant.)
Danpur Super Thermal Power Project is
operated in Banswara and Giral Thermal
Power Plant is located in Barmer district.

64. Match the following pairs-
Thermal Power PlantLocation
A. Kawai 1. Baran
B. Bhadres 2. Bikaner
C. Barsingsar 3. Bihar
D. Kahalgaon 4. Barmer
Code:-

A B C D A B C D
[a] 1 2 3 4 [b] 2 1 4 3
[c] 1 4 2 3 [d]3 1 4 2

Sol. [C]
65. From the following select the solar parks

established in the state of Rajasthan -
1. Nandia Kalan 2. Nokh
3. Dhudsar 4. Amar Sagar
Code:
[a] 1, 2 and 3 only [b] 1, 3 and 4 only
[c] 1 and 2 only [d] 1, 2, 3 and 4

Sol. [A]
Among the solar parks established in
Rajasthan, Bhadla, Nandia Kalan (Jodhpur),
Dhudsar, Nokh and Fatehgarh (Jaisalmer) and
Phalodi-Pokaran (Jodhpur-Jaisalmer) are
noteworthy.
Amar Sagar (Jaisalmer) : First wind energy
plant of Rajasthan.

66. With reference to the Solar Rooftop Power
Generation Scheme, consider the following
statements-
1. This scheme was implemented by the

Ministry of New and Renewable Energy,
Government of India on August 20, 2019.
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2. This scheme will be operated through
electricity distribution companies in the states.

3. Under this, 40% for 0-3 kW energy and 20%
for 3-10 KW will be provided as grant/
subsidy.

State the correct statement from the above-
[a] 1 and 2 only [b] 1 and 3 only
[c] 2 and 3 only [d] All of the above

Sol. [D]
67. Under the Rajasthan Solar Energy Policy-

2019, by which year the target of 30,000 MW
solar power projects is to be achieved:
[a] Year 2022-23 [b] Year 2023-24
[c] Year 2024-25 [d] Year 2025-26

Sol. [C]
The Rajasthan Solar Energy Policy,
implemented from December 18, 2019, has set
a target of achieving 30,000 MW solar power
projects by the year 2024-25.

68. Consider the following statements-
1. The main sources of biomass energy are

mustard stubble, exotic acacia, rice husk.
2. The highest potential of biomass energy is

in Sriganganagar district.
The correct statement from the above is-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [C]
The main source of biogas energy is cow dung
and its most potential is in Udaipur district.

69. The chemical composition of biogas includes
which of the following?
1. Methane 2. Carbon-dioxide
3. Hydrogen 4. Ozone
Code-
[a] 2, 3 and 4 only [b] 1, 2 and 3 only
[c] 1, 3 and 4 only [d] All of the above

Sol. [B]
Chemical composition of Biogas - Methane = 65%

Co2    = 30%
H2     = 2%

70. Observe the following facts related to the
Green Energy Project-
1. This project extends to Bikaner, Nagaur,

Ajmer, Jodhpur, Chittorgarh in Rajasthan.
2. Seven more states have joined the second

phase of this project.
The correct statement from the above is/are-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

3. 0-3 40% 
3-10 20% 

[a] 1 2 [b] 1 3
[c] 2 3 [d]

Sol. [D]
67. 2019 

30,000 

[a] 2022-23 [b] 2023-24
[c] 2024-25 [d] 2025-26

Sol. [C]
18 2019 
2024-25 30,000 MW 

68.
1.

2.

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [C]

69.

1. 2.
3. 4.

[a] 2, 3 4 [b] 1, 2 3
[c] 1, 3 4 [d]

Sol. [B]
= 65%

 Co2    = 30%
H2     = 2%

70.

1.

2. 7 

[a] 1 [b] 2
[c] 1 2 [d]
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Sol. [A]
The green energy project was extended from
Punjab to Gujarat in its first phase.
In the second phase total 7 states have been
included – Himachal Pradesh, Uttar Pradesh,
Rajasthan, Gujarat, Karnataka, Kerala and
Tamil Nadu.

71. When was the Rajasthan Renewable Energy
Corporation established?

[a] Year 2002 [b] Year 2004
[c] Year 1985 [d] Year 1995

Sol. [A]

Rajasthan Renewable Energy Corporation was
established by merging REDA (1985) and
RSPCL (1995) on August 9, 2002.

72. Which of the following is called ‘Population
Divider Decade’-

[a] 1971-1981 [b] 1991-2001
[c] 1911-1921 [d]1951-1961

Sol. [C]

The population divide decade 1911-21 had the
highest negative population growth rate in
Rajasthan. Plague epidemic, First World War,
beginning of national movements, etc. are
noteworthy factors in this decade leading to
decrease in population.

73. Consider the following statements regarding
population density in Rajasthan-

1. The lowest population density is found in
the desert districts.

2. The population density in the state is 382
persons per square kilometer.

3. ‘Dausa’ is one of the districts with the
highest population density.

Select the correct statement from the above-

[a] 1 and 3 only [b] 1 and 2 only
[c] 2 and 3 only [d] All of the above

Sol. [A]

The population density in Rajasthan is 200
persons per square kilometer. (382 persons per
square kilometer is the population density of
India.)
Districts with highest population density -
Jaipur, Bharatpur, Dausa, Alwar
Districts with less than 100 population density
– Jaisalmer, Bikaner Barmer)

Sol. [A]

7 

71.

[a] 2002 [b] 2004

[c] 1985 [d] 1995
Sol. [A]

REDA 1985
RSPCL (1995 ) 9 

2002 

72.

[a] 1971-1981 [b] 1991-2001

[c] 1911-1921 [d] 1951-1961
Sol. [C]

1911-21 

73.

1.

2. 382 

3.

[a] 1 3 [b] 1 2

[c] 2 3 [d]
Sol. [A]

200 
382 

100 

74.
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74. Select the discending correct order with
districts having highest rural sex ratio from
the following-

[a] Tonk > Banswara > Pratapgarh
[b] Dholpur > Karauli > Jaisalmer
[c] Pali > Rajsamand > Dungarpur
[d] Jaisalmer > Dholpur > Alwar

Sol. [C]
jkT; esa fyaxkuqikr 

xzkeh.k ¼933½        'kgjh ¼914½ 

  lokZf/kd 
1- ikyh  
2- jktlean 
3- Mwaxjiqj 

U;wure 
1- /kkSyiqj  
2- djkSyh  
3- tSlyesj 

lokZf/kd 
1- Vksad 
2- ck¡lokM+k 
3- izrkix<+ 

U;wure 
1- tSlyesj  
2- /kkSyiqj  
3- vyoj 

75. How many districts have sex ratio less than
average child sex ratio in Rajasthan?
[a] 15 [b] 12
[c] 10 [d] 8

Sol. [B]
In terms of sex ratio in the state, there are 12
districts with below average child sex ratio,
while the number of districts with below
average sex ratio is 15.

76. Which of the following district has the
highest urban literacy rate?
[a] Udaipur [b] Jhunjhunu
[c] Kota [d] Dholpur

Sol. [A]
The highest urban literacy in Rajasthan is found
in Udaipur (87.5%), while the lowest is in
Nagaur (70.6%).

77. Consider the following statements regarding
the Scheduled Castes and Tribes in the State
of Rajasthan-
1. Rajasthan has higher tribal population is

more in the state than the scheduled caste.
2. The highest percentage of SC and ST is in

Sriganganagar and Banswara respectively.
3. The sex ratio of Scheduled Castes is less

than that of Scheduled Tribes.
Which of the above is/are correct statement?
[a] 1 only [b] 1 and 3 only
[c] 2 and 3 only [d] 2 only

Sol. [C]
Scheduled Caste (122.21 lakh) population is
more in Rajasthan than Scheduled Tribe (92.38
lakh).

[a] > > 

[b] > > 

[c] > > 

[d] > > 
Sol. [C]

jkT; esa fyaxkuqikr 

xzkeh.k ¼933½        'kgjh ¼914½ 

  lokZf/kd 
1- ikyh  
2- jktlean 
3- Mwaxjiqj 

U;wure 
1- /kkSyiqj  
2- djkSyh  
3- tSlyesj 

lokZf/kd 
1- Vksad 
2- ck¡lokM+k 
3- izrkix<+ 

U;wure 
1- tSlyesj  
2- /kkSyiqj  
3- vyoj 

75.

[a] 15 [b] 12
[c] 10 [d] 8

Sol. [B]

12,  
15 

76.

[a] [b]
[c] [d]

Sol. [A]
(87.5%) 

(70.6%)
77.

1.

2.

3.

[a] 1 [b] 1 3
[c] 2 3 [d] 2

Sol. [C]
92.38 

(122.21 ) 
78.

1.
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78. Consider the following statements-
1. In terms of metallic minerals, the state of

Rajasthan ranks first in the country.
2. The contribution of Rajasthan in the total

mineral production of the country is 22%.
Select the correct statement from the above-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [B]
Rajasthan has a contribution of 22% in the
country’s total mineral production, in which
metallic minerals hold 15% and non-metallic
minerals 25% and Rajasthan ranks first in the
country in non-metallic mineral production.

79. Which of the following is not a non-ferrous
metal mineral:
[a] Tin [b] Aluminum
[c] Manganese [d] Platinum

Sol. [C]
Metallic minerals are divided into ferrous and
non-ferrous metallic minerals. Non-ferrous
metallic minerals include gold, silver, platinum,
lead, zinc, tin, copper, bauxite, aluminium,
magnesium, mercury etc. whereas manganese
comes under the category of ferrous metallic
minerals.

80. The latest deposits of gold discovered by GSI
are:
1. Anandpur-Bhukia 2. Ghotia Amba
3. Devtalai 4. Udaipur
Code:
[a] 1, 3 and 4 only [b] 2, 3 and 4 only
[c] 1, 2 and 3 only [d] 2 and 3 only

Sol. [B]
In Rajasthan, gold is found in Vagad region,
in which Jagpura-Bhukia and Anandpur-
Bhukia of Banswara are notable. In the survey
conducted by GSI, new gold deposits have
been found in three districts – 1. Banswara
(Ghoti Amba), 2. Udaipur and 3. Bhilwara
(Devtalai).

81. Match the following pairs-
Mineral Related district
A. Soap stone 1. Pali
B. Bentonite 2. Chittorgarh
C. Thorium 3. Rajsamand
D. Okar 4. Barmer

5. Udaipur
A B C D A B C D

[a] 1 2 3 4 [b] 5 4 1 2
[c] 4 3 1 2 [d]4 2 3 1

2.
22% 

[a] 1 [b] 2
[c] 1 2 [d]

Sol. [B]
22% 

15% 
25% 

79.

[a] [b]

[c] [d]
Sol. [C]

80.

1. 2.

3. 4.

[a] 1, 3 4 [b] 2, 3 4

[c] 1, 2 3 [d] 2 3
Sol. [B]

 

1. 
2. 3. 

81.

A. 1.

B. 2.

C. 3.

D. 4.

5.
A B C D A B C D

[a] 1 2 3 4 [b] 5 4 1 2
[c] 4 3 1 2 [d] 4 2 3 1

Sol. [B]
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Sol. [B]
82. Bhadravan is the area related to which

mineral:-
[a] Lithium [b] Uranium
[c] Thorium [d] Beryllium

Sol. [C]
Bhadravan, located in Pali district, is a major
area of thorium nuclear mineral.

83. According to the Economic Review 2022-23,
Rajasthan is the only producer of which
minerals?
1. Lead-Zinc 2. Wollastonite
3. Selenite 4. Garnet
5. Emerald
Code:
[a] 1, 2, 3 and 4 only [b] 2, 3 and 4 only
[c] 1, 3, 4 and 5 only [d] 1, 2 and 3 only

Sol. [D]
According to the Economic Review 2022-23,
Rajasthan is the only producer of the following
minerals:-
1. Wollastonite - Bell Ka Magra (Sirohi)
2. Lead-Zinc- Rajpura Dariba (Rajsamand),

Javar and Debari (Udaipur), Gulabpura
Agucha and Rampura Agucha (Bhilwara),
Gudha Kishoridas (Alwar), Chauth Ka
Barwara (Sawai Madhopur)

3. Selenite – Bikaner
84. With reference to Mica, consider the

following statements-
1. Its storage and production is found in

Bhilwara, Ajmer and Rajsamand districts.
2. Due to the low production of mica, it is

called the ‘sick child of minerals’.
The correct statement from the above is:-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [C]
Maximum storage and production of mica is
done in Danta Bhunas of Bhilwara. Besides
this, Ajmer and Rajsamand are also leading
districts in mica.
Due to the production of only 50% mica out of
20 big mines of the country, this is called ‘sick
child of mineral’.

85. 1. Petroleum storage is in 4 basins in
Rajasthan.

82.

[a] [b]

[c] [d]
Sol. [C]

83. 2022-23 

1. 2.

3. 4.

5.

[a] 1, 2, 3 4 [b] 2, 3 4

[c] 1, 3, 4 5 [d] 1, 2 3
Sol. [D]

2022-23 

1.

2.

3.

84.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [C]

20 50% 

85. 1. 4 
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2. Vindhyan basin extends up to Kota, Bundi,
Bhilwara and Chittorgarh.

3. Aishwarya is the first petroleum well of
Rajasthan.

Which of the above is/are correct statement/s?
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 3 only [d] 1, 2 and 3

Sol. [A]

- Petroleum storage in Rajasthan is in 4
basins, which are as follows:-

1. Barmer - Sanchore Basin
2. Rajasthan Shelf Basin, Jaisalmer
3. Bikaner-Nagaur Basin
4. Vindhyan Basin (Hadoti, Bhilwara,

Chittorgarh)
The first petroleum well of Rajasthan is
Mangala (Barmer), where production started
from the year 2009.

86. ‘Durga’ is related to:-

[a] Natural gas field [b] Petroleum field
[c] Coal sector [d] Solar energy sector

Sol. [B]

Vedanta group company Cairn Oil and Gas
discovered an oil field in Barmer district of
Rajasthan and named it ‘Durga’.

87. Select the option that arranges the types of
coal in increasing order on the basis of carbon
content-

[a] Peat, Lignite, Bituminous, Anthracite
[b] Anthracite, Bituminous, Lignite, Peat
[c] Lignite, Bituminous, Anthracite, Peat
[d] Peat, Bituminous, Lignite, Anthracite

Sol. [A]

On the basis of the amount of carbon, the four
types of coal are as follows:-
Anthracite - 95% (bright black color)
Bituminous - 60-70% (black-brown colour)
Lignite - 50-60% (brown colour)
Peat - 45-50% (light brown colour)

88. In which of the following years was the M-
Send policy issued?

[a] 2020 [b] 2002
[c] 2021 [d] 2022

Sol. [C]

2. 

3. 

[a] 1 2 [b] 2 3

[c] 1 3 [d] 1, 2 3
Sol. [A]

4 

1.

2.

3.

4.

2009 

86.

[a] [b]

[c] [d]
Sol. [B]

87.

[a]

[b]

[c]

[d]
Sol. [A]

 

- 95% 

- 60-70% 

- 50-60% 

- 45-50% 

88. (M-Sand)

[a] 2020 [b] 2002

[c] 2021 [d] 2022
Sol. [C]



Page 25

The M-Sand policy was issued on January 25,
2021. It is made of granite stone, whose
standard IS Code= 383 : 2016.

89. Pachpadra Petroleum Refinery Which refinery
of India is-

[a] 25th [b] 27th
[c] 24th [d] 26th

Sol. [D]
Pachpadra Petroleum Refinery is the first
refinery of Rajasthan and the 26th refinery of
the country BS-VI standard will be followed
under it. It is being operated in collaboration
with HPCL and Government of Rajasthan
(74:26 respectively) and has a capacity of 9
MMTPA.

90. Among the following the mismatched pair
is-
Medium of irrigation   Mostly used in district
[a] Tubewell - Jaipur
[b] Canal - Sriganganagar
[c] Pond- Bhilwara
[d] Well- Tonk

Sol. [D]

  

flapkbZ dk ekè;e jktLFkku esa fdrus % lokZf/kd mi;ksx djus okyk 
ftyk  

1- uydwi 42% t;iqj  
2- ugj  30% Jhxaxkuxj 
3- dqvka 24% t;iqj  
4- rkykc 1% HkhyokM+k 

91. When there is a shortage of water in the Indira
Gandhi Canal Project in the winter season,
water is supplied from which dam?
[a] Pandoh Dam [b] Pong Dam
[c] Nangal Dam [d] Jawahar Sagar Dam

Sol. [B]
Rajasthan gets 59% water supply from Pong
dam and 20% water supply from Pandoh dam
and water supply in IGNP is done from Pong
dam during winter season.

92. Which of the following is not included in
the states benefiting from the Renuka project-
[a] Rajasthan [b] Delhi
[c] Haryana [d] Uttar Pradesh

Sol. [*]
Operated with the financial support of the
Center and the State (90% and 10%
respectively), this project is situated on the Giri
River in Sirmour district. States benefited from
Renuka project- Uttar Pradesh, Uttarakhand,
Himachal Pradesh, Rajasthan, Delhi, Haryana.

 M-Sand 25 2021 

IS Code= 383 : 2016 

89.

[a] 25 [b] 27

[c] 24 [d] 26
Sol. [D]

 
26 BS-VI 

74:26

9 MMTPA 
90.

[a]
[b]
[c]
[d]

Sol. [D]

 

flapkbZ dk ekè;e jktLFkku esa fdrus % lokZf/kd mi;ksx djus okyk 
ftyk  

1- uydwi 42% t;iqj  
2- ugj  30% Jhxaxkuxj 
3- dqvka 24% t;iqj  
4- rkykc 1% HkhyokM+k 

91.

[a] [b]
[c] [d]

Sol. [B]
59% 20%

92.

[a] [b]
[c] [d]

Sol. [*]
90% 10%
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93. Which of the following is a place related to
Indira Gandhi Canal?
1. Firozpur 2. Masitavali
3. Pugal 4. Mohangarh
5. Gadra Road
[a] 1, 2, 3 and 4 only [b] 2, 3, 4 and 5 only
[c] 1, 2, 4 and 5 only [d] All of the above

Sol. [D]
bafnjk xk¡/kh ugj dk fuekZ.k nks pj.kksa esa fd;k x;k gS& 

izFke pj.k ¼393 fd-eh-½        f}rh; pj.k ¼256 fd-eh-½  

 Qst izFke    Qst f}rh;  iwxy     eksgux<+ 
 ¼QhMj ugj½   ¼eq[; ugj½ 

           fQjkstiqj       elhrkoyh   elhrkoyh      iwxy 

94. The use of SCADA system is related to-
1. Transmission of electricity
2. Transport of oil in pipelines
3. Water distribution
4. Traffic Light
Code:
[a] 3 only [b] 2 and 3 only
[c] 1, 3 and 4 only [d] All of the above

Sol. [D]
SCADA system is an electronic technology,
which has been used for the first time in
Rajasthan for distribution and control of water
in IGNP.

95. How many districts of Rajasthan are being
ensured the availability of irrigation and
drinking water under the Eastern Rajasthan
Canal Project (ERCP)?
[a] 12 [b] 11
[c] 10 [d] 13

Sol. [D]
There are 13 districts which will be benefited
from ERCP - Kota, Bundi, Baran, Jhalawar,
Bharatpur, Karauli, Dholpur, Sawai Madhopur,
Jaipur, Alwar, Dausa, Ajmer and Tonk.

96. Match the following pairs-
Irrigation Project Related District
A. Meja 1. Bundi
B. Anas 2. Baran
C. Benthali 3. Tonk
D. Galwa Dam 4. Banswara

5. Bhilwara
A B C D A B C D

[a] 1 2 3 4 [b] 5 1 2 3
[c] 5 4 2 3 [d]1 4 2 3

Sol. [C]
Mej irrigation project is operational in Bundi

93.

1. 2.
3. 4.
5.
[a] 1, 2, 3 4 [b] 2, 3, 4 5
[c] 1, 2, 4 5 [d]

Sol. [D]
bafnjk xk¡/kh ugj dk fuekZ.k nks pj.kksa esa fd;k x;k gS& 

izFke pj.k ¼393 fd-eh-½        f}rh; pj.k ¼256 fd-eh-½  

 Qst izFke    Qst f}rh;  iwxy     eksgux<+ 
 ¼QhMj ugj½   ¼eq[; ugj½ 

           fQjkstiqj       elhrkoyh   elhrkoyh      iwxy 

94.
1.
2.
3.
4.
[a] 3 [b] 2 3
[c] 1, 3 4 [d]

Sol. [D]

95.

[a] 12 [b] 11
[c] 10 [d] 13

Sol. [D]
ERCP 13 

96.

A. 1.
B. 2.
C. 3.
D. 4.

5.
A B C D A B C D

[a] 1 2 3 4 [b] 5 1 2 3
[c] 5 4 2 3 [d] 1 4 2 3

Sol. [C]
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district.
97. Which of the following states are part of the

Narmada Multipurpose Project?
1. Rajasthan 2. Madhya Pradesh
3. Uttar Pradesh 4. Maharashtra
5. Gujarat
[a] 1, 2 and 3 only [b] 2, 3 and 5 only
[c] 1, 2, 4 and 5 only [d] 1, 2, 3 and 5 only

Sol. [C]
Sprinkler, drip and drop-drop techniques have
been compulsorily implemented in the
Narmada Canal Project.

98. In which year the Central Government gave
the status of ‘Textile Exporter City’ to
Bhilwara-
[a] 2009 [b] 2007
[c] 2010 [d] 2002

Sol. [A]
In February, 2009, the Central Government
accorded the status of ‘Textile Exporting City’
to Bhilwara in Rajasthan due to highest textile
production.

99. The mismatched pair among the following
is :

Spinning mill       District
1. Rajasthan Co-operative       -Bhilwara

Spinning Mill
2. Gangapur Co-operative       -Hanumangarh

Spinning Mill
3. Sriganganagar -    Sriganganagar

Co-operative
 Spinning Mill

Code:
[a] 2 and 3 only [b] 1 only
[c] only 2 [d] none of these

Sol. [A]
Co-operative cotton textile mills established in
Rajasthan are as follows-
1. Rajasthan Cooperative Spinning Mill, Gulabpura

(Bhilwara-1965)
2. Gangapur Cooperative Spinning Mill, Gangapur

(Bhilwara-1981)
3. Sriganganagar Cooperative Spinning Mill

(Hanumangarh-1978)
100. Match the following pairs-

List (I) List (II)
A. Central Wool 1. Tonk

Development Board
B. Wool Testing 2. Jodhpur

Laboratory
C. Wool Training Center 3. Bikaner
D. Central Sheep & Wool 4. Jaipur

research center
A B C D A B C D

[a] 1 2 3 4 [b] 2 3 4 1
[c] 3 2 1 4 [d]4 3 2 1

Sol. [B]
In addition to the above, the following
information is also visible-
Maximum wool production -  Jodhpur
in Rajasthan
Asia’s biggest wool market - Bikaner
State wool mill - Bikaner

97.

1. 2.
3. 4.
5.
[a] 1, 2 3 [b] 2, 3 5
[c] 1, 2, 4 5 [d] 1, 2, 3 5

Sol. [C]

98.

[a] 2009 [b] 2007
[c] 2010 [d] 2002

Sol. [A]
2009 

99.

1.
2.
3.

[a] 2 3 [b] 1
[c] 2 [d]

Sol. [A]

1.
1965

2. 1981
3. 1978

100.
(I) (II)

A. 1. 
B. 2. 
C. 3. 
D. 4. 

A B C D A B C D
[a] 1 2 3 4 [b] 2 3 4 1
[c] 3 2 1 4 [d] 4 3 2 1

Sol. [B]
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101. If a mirror is placed on the line MN, then
which of the answer figures is the correct
image of the given question figure?
Question Figure:-

M

N

Answer Figures:-

(a) (b) (d)(c)
Sol. [C]

(b) (c)102. If a mirror is placed on the line MN, then
which of the answer figures is the correct
image of the given question figure?
Question Figure:-

M

N

Answer Figures:-

(a) (b) (d)(c)
Sol. [B]

103. If a mirror is placed on the line AB, then
which of the answer figures is the correct
image of the given question figure?
Question Figure:-

B

A

Answer Figures:-

(a) (b) (d)(c)
Sol. [A]

101.

MN 

Question Figure:-

M

N

Answer Figures:-

(a) (b) (d)(c)
Sol. [C]

(b) (c)102.

MN 

Question Figure:-

M

N

Answer Figures:-

(a) (b) (d)(c)
Sol. [B]

103.

AB

Question Figure:-

B

A

Answer Figures:-

(a) (b) (d)(c)
Sol. [A]
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104. If a mirror is placed on the line AB, then
which of the answer figures is the correct
image of the given question figure?

Question Figure:-

B

A

Answer Figures:-

(a) (b) (d)(c)

Sol. [A]

105. If a mirror is placed on the line AB, then
which of the answer figures is the correct
image of the given question figure?

Question Figure:-

B

A

Answer Figures:-

(a) (b) (d)(c)

Sol. [B]

106. Which of the answer figures is the correct
mirror image of the given figure?

FROWNING 
B

A

(a) I WO

(b) I WO

(c) I WO

(d) I WO

Sol. [A]

I WO

104.
AB

Question Figure:-

B

A

Answer Figures:-

(a) (b) (d)(c)

Sol. [A]

105.
AB

Question Figure:-

B

A

Answer Figures:-

(a) (b) (d)(c)
Sol. [B]

106.

FROWNING 
B

A

(a) I WO
(b) I WO
(c) I WO
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107. If a mirror is placed on the line AB, then
which of the answer figures is the correct
image of the given question figure?
Question Figure:-

Answer Figures:-

Sol. [D]

108. Which of the answer figures is the correct
mirror image of the given figure?

MISSION 

B

A

(a) (b)
(c) (d)

Sol. [D]

109. If a mirror is placed on the line AB, then
which of the answer figures is the correct
image of the given question figure?
Question Figure:-

B

A

Answer Figures:-

Sol. [C]

110. If a mirror is placed on the line AB, then
which of the answer figures is the correct
image of the given question figure?
Question Figure:-

BA

(d) I WO
Sol. [A]

I WO

107.
AB

Question Figure:-

Answer Figures:-

Sol. [D]

108.

MISSION 

B

A

(a) (b)
(c) (d)

Sol. [D]

109.
AB

Question Figure:-

B

A

Answer Figures:-

Sol. [C]

110.
AB

Question Figure:-
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Answer Figures:-

Sol. [B]

111. How many chords can be drawn passing
through 18 points on a circle.
[a] 153 [b] 170
[c] 187 [d] 360

Sol. [A]

A B 
18

2

18 17
153

2 1

C





112. In how many ways are there to make teams
of 3 boys and 3 girls out of 6 boys and 7 girls?
[a] 55 [b] 800
[c] 700 [d] 75

Sol. [C]
 6 Boys and 7 Girls

 6 7
3 3C C

6 5 4 7 6 5

3 2 1 3 2 1

   
 

   
20 35

700

 


113. In how many ways a committee of 3 people
can be formed from a group of 6 Indians and
4 Englishman if there has to be least two
Indians in it.
[a] 80 [b] 52
[c] 70 [d] 62

Sol. [A]
Committee - 3 people

Condition - at least 2 Indians
 (2 Indian + 1 Englishman) or (3 Indian + 0

Englishman)

 6 4 6 4
2 1 3 0C C C C  

6 5 4 6 5 4
1

2 1 1 3 2 1

  
   

  

BA

Answer Figures:-

Sol. [B]

111. 18 

[a] 153 [b] 170
[c] 187 [d] 360

Sol. [A]

A B 
18

2

18 17
153

2 1

C





112. 6 7 3 3

[a] 55 [b] 800
[c] 700 [d] 75

Sol. [C]
 6 7 

 6 7
3 3C C

6 5 4 7 6 5

3 2 1 3 2 1

   
 

   
20 35

700

 


113. 6 4 3 

[a] 80 [b] 52
[c] 70 [d] 62

Sol. [A]
 3
 2 
 2 + 1 3 + 0

 6 4 6 4
2 1 3 0C C C C  
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60 20

80

 


114. The number of words formed from the word
KUNALDEVAL, in such a way all consonant
are always together-
[a] 21, 600 [b] 26,800
[c] 43,200 [d] 22,900

Sol. [A]

    K N L D V L  U A E A

5 ! 6 ! 

2!2!
[5 × 4 × 3 × 2 × 1] × [6 × 5 × 4 × 3 × 2 × 1]

4
120 × 720

4
86, 400

21600
4







 

115. Every person in a room shook hands with
each other, if there were 78 handshakes in
total, how many people were there in the
room?
[a] 12 [b] 11
[c] 13 [d] 14

Sol. [C]
According to question,

 782
n C 


 1

78
2

n n 


13 12
78

2


 

n = 13

116. Total number of ways in which 6  persons
can sit on 8 chairs-
[a] 20160 [b] 40320
[c] 12080 [d] 4080

Sol. [A]

8! 8 7 6 5 4 3 2 18
6 2! 2 1
p

      
  


= 20160

117. According to question, using the digits 1, 2 ,
3, 4 , 5 , 6 how many numbers between 1000
and 2000 can be formed which are divisible
by 5. If there is no repetition of digits-

6 5 4 6 5 4
1

2 1 1 3 2 1

  
   

  
60 20

80

 


114. KUNALDEVAL 

[a] 21, 600 [b] 26,800

[c] 43,200 [d] 22,900
Sol. [A]

    K N L D V L  U A E A

5 ! 6 ! 

2!2!
[5 × 4 × 3 × 2 × 1] × [6 × 5 × 4 × 3 × 2 × 1]

4
120 × 720

4
86, 400

21600
4







 

115.
78 

[a] 12 [b] 11

[c] 13 [d] 14
Sol. [C]

 782
n C 


 1

78
2

n n 


13 12
78

2


 

n = 13

116. 8 6 

[a] 20160 [b] 40320

[c] 12080 [d] 4080
Sol. [A]

8! 8 7 6 5 4 3 2 18
6 2! 2 1
p

      
  


= 20160

117. 1, 2 , 3 , 4 , 5 , 6 1000 
2000 
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[a] 12 [b] 24
[c] 36 [d] 18

Sol. [A]

  

 

 

 

 

1   5 

4    ×    3     =   12 

 
4

2

4! 4 3 2 1
12

4 2 ! 2 1

  
   

 
P

118. In how many ways can 10 rings can be
arranged in all 5 fingers of Right hand ?
[a] 510 [b] 10P5

[c] 105 [d] 10C5

Sol. [A]

 

 
5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 = 510

119. How many words can be formed using all
the letters of the word MISSISSIPPI?

[a]
11!

2!3!
[b]

11!

4!2!

[c]
11!

4!4!2!
[d] 11!

Sol. [C]
I    4
S   4
P   2

= 
11!

4!4!2!
120. In how many ways can four boys and three

girls be seated in a row if all the girls are
seated together?
[a] 720 [b] 300
[c] 120 [d] 320

Sol. [A]

B1, B2, B3, B4   
 G1 G2  G3 

5 

[a] 12 [b] 24

[c] 36 [d] 18
Sol. [A]

  

 

 

 

 

1   5 

4    ×    3     =   12 

 
4

2

4! 4 3 2 1
12

4 2 ! 2 1

  
   

 
P

118. 10 Right hand 5 Fingers 

[a] 510 [b] 10P5

[c] 105 [d] 10C5

Sol. [A]

 

 
5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 × 5 = 510

119. MISSISSIPPI 
words 

[a]
11!

2!3!
[b]

11!

4!2!

[c]
11!

4!4!2!
[d] 11!

Sol. [C]
I    4
S   4
P   2

= 
11!

4!4!2!
120.

[a] 720 [b] 300
[c] 120 [d] 320

Sol. [A]
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B1, B2, B3, B4    G1 G2  G3 
5! 3!

(5 4 3 2 1) (3 2 1)

120 6

720

 
       
 


121.

1. 2022-23 

2. 1 8 
2 

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [B]

2021-2022 
1 8 

2 200 

60 : 40 

122.

1. 6-12 

2. RBSE 

3. 55% 

[a] 1 [b] 2

[c] 3 [d]

Sol. [B]

2016 CBSE 

123.

1. 2022 

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

5! 3!

(5 4 3 2 1) (3 2 1)

120 6

720

 
       
 


121. In the context of Chief Minister’s Free
Uniform Distribution Scheme, select the
correct statements -

1. This scheme has been implemented from
budget announcement of 2022-23.

2. Under it,  2 pairs of uniforms free of cost
will be provided to all the students of
classes 1 to 8 in government schools.

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] All of the above

Sol. [B]

This scheme is the result of the budget
announcement of 2021-2022. Provision has
been made to provide 2 pairs of uniforms and
Rs.200 for stitching to the students studying
in classes 1 to 8 of government schools.
The Centre-State funding ratio for the
beneficiaries of the Samagra Shiksha Project is
60:40.

122. Select the incorrect statement regarding
Swami Vivekananda Government School-

1. These schools run till class 6-12.
2. These schools is based on RBSE pattern.
3. In these schools, 55% seats have been

reserved for girls.
[a] 1 only [b] 2 only
[c] 3 only [d] None of these

Sol. [B]

This school is being run from the year 2016 on
the CBSE pattern.

123. With reference to the Girl Child Distance
Education Scheme, consider the following
statements -

1. It was launched in October, 2022.
2. It provides for reimbursement of tuition

fees to the girl students doing graduation,
post graduation and diploma through
distance mode.

Select the incorrect statement/s-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2
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Sol. [A]

24 2022 
VMOU/IGNOU 

124.

[a] 1 2021 

[b] 25 

[c] 5 15 

[d] 1633 

Sol. [A]

1 2021 

850 

125.

[a] 1 2021 [b] 15 2021

[c] 1 2022 [d] 15 2022

Sol. [C]

5 

7 

126.

[a] 50 : 50 [b] 60 : 40

[c] 40 : 60 [d] 90 : 10

Sol. [A]

15 2019 

2024 

127.

[a] 37 [b] 33 

Sol. [A]

It has been started from 24 August 2022. This
scheme provides for reimbursement of tuition
fees to girl students studying through distance
medium courses of VMOU/IGNOU.

124. In the context of Chief Minister Chiranjeevi
Health Insurance Scheme, the incorrect
statement is-
[a] This scheme was launched on 1 October

2021.
[b] In this scheme, there is a provision of

insurance amount of Rs. 25 lakh per family
per year.

[c] Medical expenses of 5 days before and 15
days after hospital admission are provided
in this scheme.

[d] A total of 1633 treatment packages are
included in this scheme.

Sol. [A]
This scheme has been started from May 1, 2021,
with the aim of providing health insurance
coverage to the entire population of the state.
This facility is available free of cost to some
selected categories and to others at a premium
of Rs.850 per annum.

125. Chief Minister Chiranjeevi Accident
Insurance Scheme started from -
[a] 1st May 2021 [b] 15th August 2021
[c] 1st May 2022 [d] 15th August 2022

Sol. [C]
Free accident insurance coverage of Rs.5 lakh/
family has been provided to Chiranjeevi
families.
7 types of accidents have been included in this.

126. The Centre-State funding ratio in “Jal Jeevan
Mission” is-
[a] 50 : 50 [b] 60 : 40
[c] 40 : 60 [d] 90 : 10

Sol. [A]
Jal Jeevan Mission was launched on 15 August
2019. It aims to provide functional household
tap connection to every rural household by
2024.

127. How many “Consumer Disputes Redressal
District Forums” have been established in
Rajasthan-
[a] 37 District Forum [b] 33 District Forum
[c] 50 District Forum [d] 40 District Forum

Sol. [A]
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[c] 50 [d] 40 

Sol. [A]

2019 

37 1, 4,

2 6 

128.

[a] 58 60 
[b] 55 60 
[c] 60 
[d] 55 58 

Sol. [D]
55 

58 75 
750 

75  1000 

129.
1.

2.

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [B]
2023-24 

130.

[a] 12 

[b] 1
18 5 

[c] 1 2500

[d] 25 2021 

Sol. [C]
1 

1500 1000 

Under the provisions of the Consumer
Protection Act, 2019, Consumer Disputes
Redressal Forums have been set up at the
State/District level. A total of 37 district
forums (1 for every district, Jaipur-4, Jodhpur-
2) and 6 circuit benches have been established.

128. The minimum age limit has been set in the
Chief Minister’s Old Age Samman Pension
Scheme -
[a] 58 years female, 60 years male
[b] 55 years female, 60 years male
[c] Female and male 60 years
[d] 55 years female, 58 years male

Sol. [D]
Under this scheme, the minimum age has been
fixed at 55 years for female and 58 years for
male. A pension amount of Rs 750 per month
will be given till the age of 75 years.
On exceeding the age of 75, a pension amount
of Rs 1000 per month will be given.

129. Consider the following statements-
1. Baba Amte Divyang University has been

established in Jaipur.
2. Mahatma Gandhi Divyang University will

be established in Udaipur.
Select the incorrect statement/s from the
above-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
Under the announcement of the budget 2023-
24, Mahatma Gandhi Divyang University will
be established in Jodhpur.

130. Select the incorrect statement related to Chief
Minister Corona Sahayata Yojana-
[a] In this scheme, a provision has been made

to provide free education to the orphan
boy/girl till class 12th.

[b] Instant assistance of Rs. 1 lakh will be
provided to the orphan boy/girl and Rs. 5
lakh as lump sum assistance on completion
of 18 years of age.

[c] Rs 1 lakh lump sum and 2500 months pension
amount will be given to the widow woman.

[d] This scheme has been implemented in the
entire state from 25 June 2021.

Sol. [C]
On the death of her husband, Rs 1 lakh lump
sum, Rs 1500 per month/pension and for
children Rs 1000 per month and Rs 2000
annually will be given.
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2000 
131. (COP)-28 

[a]
[b]
[c]
[d]

Sol. [C]
(COP-28)

132. 2023 

[a] [b]
[c] [d]

Sol. [D]

80
133.

[a]

[b]

[c] 2022 
[d]

Sol. [D]

2022 

134. CERT-IN 

[a]

[b]

[c] 2004 
[d]

Sol. [A]

131. Where is the meeting of Conference of Parties
(COP)-28 proposed?
[a] India
[b] Sweden
[c] United Arab Emirates
[d] New Zealand

Sol. [C]
COP-28 of the United Nations Climate Change
Conference will be held in the United Arab
Emirates.

132. Which country ranked first in the Henley
Passport Index, 2023?
[a] Japan [b] America
[c] UAE [d] Singapore

Sol. [D]
- Singapore topped the Henley Passport Index
- India was ranked 80th.

133. With reference to the Global Crisis Response
Group select the incorrect statement from the
following-
[a] India has recently joined its Champions

Group.
[b] It aims to cooperate in matters related to

food security, energy and finance.
[c] It was established in March 2022.
[d] India is the only Asian country to join this

group.
Sol. [D]

Global Crisis Response Group-
Established - March 2022
Objective - To address the interrelated crises
of food security, energy and finance.
Sanjay Verma (Secretary, Ministry of External
Affairs) was appointed its Sherpa.
This group includes Bangladesh, Denmark,
Germany, Barbados, Indonesia and Senegal.
(India joined in July)

134. In the context of CERT-IN, select the
incorrect statement from the following-
[a] Its stands for Computer Emergency

Response Team Internet.
[b] Recently it has issued advisory against

Akira ransomware.
[c] It was established in the year 2004.
[d] It acts as the nodal agency for cyber security

in India.
Sol. [A]

In view of cyber attacks and threats, the
Government of India established the
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(CERT-IN)
2004 

CERT-IN 

CERT-IN 

135. 3 
[a] LVM3-M4 
[b]
[c] ISRO 

[d]

Sol. [D]
3 

25 

LVM3-M4
136.

1. 2.
3.

[a] 1 [b] 1 2
[c] 2 3 [d]

Sol. [D]
 

137. 2022 

1.
2.

3.
4.

[a] 1 2
[b] 1, 2 3
[c] 2, 3 4

Computer Emergency Response Team-India
(CERT-IN) in 2004.
CERT-IN is the nodal agency for cyber
security in India.
Recently CERT-IN has issued advisory
regarding Akira Ransomware.

135. Select the incorrect statement regarding
Chandrayaan-3 -
[a] It was launched via an LVM3-M4 rocket.
[b] It consists of a lander and a rover.
[c] It was launched by ISRO from the Satish

Dhawan Space Center in Sriharikota.
[d] India will be the fourth country to land on

the south pole of the Moon.
Sol. [D]

- Chandrayaan-3 was launched from the
Satish Dhawan Space Center in Sriharikota.

- This includes Lander and Rover.
- After the success of this mission, India will

become fourth country to land on the
surface of the moon after the success of this
mission.

- First or second country to land on the South
Pole as Russia’s Luna-25 will also land on
the South Pole.

- Launch Vehicle: LVM3-M4
136. Which of the following country/countries has

agreed for bilateral trade with India in
rupees?
1. Bangladesh 2. UAE
3. Sri Lanka
Select the correct code from the above -
[a] 1 only [b] 1 and 2 only
[c] 2 and 3 only [d] All of the above

Sol. [D]
Bangladesh, UAE and Sri Lanka all the three
countries have agreed for bilateral trade with
Indian Rupee.

137. With reference to Export Preparedness Index,
2022, consider the following statements-
1. It was issued by NITI Aayog.
2. Export Policy, Trade ecosystem, export

ecosystem and export performance are its
pillars.

3. Tamil Nadu topped the index.
4. Rajasthan got 6th position among all states/

UTs.
Choose the correct statements from the above-
[a] 1 and 2 only
[b] 1, 2 and 3 only
[c] Only 2, 3 and 4
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[d]
Sol. [B]

2022
1.
2.

3.
6 

138.

[a] [b]
[c] [d]

Sol. [C]
HDFC HDFC 

HDFC 
7 

HDFC > ICICI > SBI 3 
139.

[a] Atlas-V [b] Zhuque-2
[c] DS-SAR [d] Vanguard

Sol. [B]

Zhuque-2 
140.

[a] [b]
[c] [d]

Sol. [D]

141.
[a] [b]
[c] [d]

Sol. [C]

142.

[a]
[b]
[c]

[d] All the statements are correct.
Sol. [B]

Export Preparedness Index, 2022
1. It was issued by NITI Aayog.
2. Export Policy, Trade ecosystem, export

ecosystem and export performance are its
pillars.

3. Tamil Nadu topped the index.
4. Rajasthan ranked 6th among landlocked

states.
138. Which Indian bank has recently become the

fourth largest bank in the world?
[a] SBI [b] ICICI Bank
[c] HDFC Bank [d] Bank of Baroda

Sol. [C]
After the merger of HDFC Bank with HDFC
Housing, HDFC Bank became the fourth
largest bank in the world.
It is ranked 7th in terms of current market cap.
HDFC > ICICI > SBI are the top 3 banks in
India.

139. World’s first methane fueled rocket launched
by China is -
[a] Atlas-V [b] Zhuque-2
[c] DS-SAR [d] Vanguard

Sol. [B]
Worlds first methane fueled rocket Zhuque-2
was successfully launched by China.

140. From which place did the Prime Minister
launch Sulfur Coated Urea?
[a] Neemuch [b] Gwalior
[c] Rajsamand [d] Sikar

Sol. [D]
Prime Minister launched Sulfur Coated Urea
from Sikar during his visit to Rajasthan. It is
also called ‘Golden Urea’.

141. The Golden Peacock Award related to which
field?
[a] Politics [b] Education
[c] Corporate [d] Science

Sol. [C]
The prestigious Corporate Sector Golden
Peacock Award was presented to Adani
Transmission Limited in the Environment
Management category.

142. The districts included in the National Sickle
Cell Anemia Eradication Program are-
[a] Banswara, Chittor, Ajmer, Pali
[b] Chittor, Barmer, Rajsamand, Sirohi
[c] Sirohi, Udaipur, Banswara, Pali
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[d]
Sol. [C]

143.

[a] [b]

[c] [d]
Sol. [B]

144.

[a]

[b]

[c]

[d]
Sol. [A]

145.

GI Tag 

A. 1.
B. 2.
C. 3.
D. 4.

A B C D A B C D
[a] 3 2 1 4 [b] 2 4 3 1

[c] 3 4 1 2 [d] 3 2 4 1
Sol. [C]

   

   
   
   

 
146. PBW RSI 

[a]

[b]

[c] 2 

[d] Kota, Pali, Sirohi, Udaipur
Sol. [C]

National Sickle Cell Anemia Eradication
Program covers eight districts from Rajasthan
– Banswara, Dungarpur, Pratapgarh, Udaipur,
Sirohi, Rajsamand, Chittor and Pali.

143. Where was the conference of Commonwealth
Parliamentary Association held in Rajasthan?
[a] Jaipur [b] Udaipur
[c] Jodhpur [d] Ajmer

Sol. [B]
A two-day convention of the Commonwealth
Parliamentary Association was held in
Udaipur.

144. In which of the following universities, Veer
Tejaji research center will be established?
[a] Jai Narayan Vyas University (Jodhpur)
[b] Mohanlal Sukhadia University (Udaipur)
[c] University of Rajasthan (Jaipur)
[d] Maharaja Ganga Singh University (Bikaner)

Sol. [A]
Veer Tejaji’s research center has been
established in Jainarayan Vyas University
(Jodhpur).

145. Match the following pairs-
GI Tag Products Location
A. Kandhamal Turmeric 1. Kerala
B. Podam 2. Tamil Nadu
C. Tirur Arecanut 3. Odisha
D. Kandangi saree 4. Mizoram

A B C D A B C D
[a] 3 2 1 4 [b] 2 4 3 1
[c] 3 4 1 2 [d] 3 2 4 1

Sol. [C]

Product Category Place 
Kandhamal 

turmeric 
Agriculture Odisha 

Podam Handicraft Mizoram 
Tirur arecanut Agriculture Kerala 

Kandangi 
saree 

Handicraft Tamil Nadu 

 

146. PBW RSI was in news recently, it is related to-
[a] Rice variety developed by Punjab

University.
[b] Mustard variety developed by Delhi

University.
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[c] High amylase variety of wheat, which is
able to reduce the risk of type-2 diabetes
and heart disease.

[d] Genetically modified variety of cotton.
Sol. [C]

DMH-11 is a GM mustard variety developed
by University of Delhi.
Bollgard cotton is a genetically modified cotton
variety.
PBW RSI is a high amylase variety of wheat,
which lowers the risk of type-2 diabetes and
heart disease.

147. Nomadic Elephant-2023 military exercise was
conducted between India and

[a] Nepal [b] Sri Lanka
[c] Mongolia [d] Indonesia

Sol. [C]

Nomadic Elephant military exercise was
conducted between India and Mongolia.

148. Carlos Alcorrez won the title by defeating
whom in Wimbledon Championship 2023?

[a] Roger Federer [b] Rafael Nadal
[c] John McEnroe [d] Novak Jokovic

Sol. [D]

Carlos Alcaroz defeated Novak Djokovic to
win the Wimbledon 2023 title.

149. Where was the Indo-East Africa Trade Expo
organized?

[a] Jaipur [b] Kenya
[c] Burundi [d] Udaipur

Sol. [B]

The three-day Expo Indo-East Africa Trade
Expo was organized in Nairobi, the capital of
Kenya in partnership with the Rajasthan Export
Promotion Council.

150. The player who won gold medal in the 4th
Youth Women’s National Boxing
Championship is-

[a] Swati Ajmera [b] Swasti Arya
[c] Khushi Poonia
[d] Arundhati Chowdhary

Sol. [C]

Khushi Poonia won the gold medal in the 4th
Youth Women’s National Boxing
Championship.

[d]
Sol. [C]

DMH-11 GM

Bollgard cotton  

PBW RSI 2

147. 2023 

[a] [b]

[c] [d]
Sol. [C]

148. 2023 

[a] [b]

[c] [d]
Sol. [D]

2023 

149.

[a] [b]

[c] [d]
Sol. [B]

150.

[a]

[b]

[c]

[d]
Sol. [C]
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DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
C B A C B B C A B D C C C * D
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
B A B A B C A B A A C D A C A
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
B D C B B A * C C B D B D D B
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
C D D B A A C A D C B C D C C
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
B * D C A D C C B A A C A C B
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
A C B C B B C D C A B A C D D
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
B * D D D C C A A B C B A A B

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
A D D C B A C A A C A A A C A

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
B B A A C A A D B C C D D A D

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
D B C B D C C B A C C C D B C

ANSWER KEY
RAS PRE. TEST SERIES-2023
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